. 'Geometry, 13.1:  Graphing Equations

Plottmg pomts (x y)

Example: plot the points (2, 4), (<3, 2), (2, -4)

Graphing a fine: 3 methods...

1) Plot pomts from a table of x,y values
Example graph the line 2x - 3y 6
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© .. Example: graph the line 2x-3y =6
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3) Use x-intercept and y-intercept
Example: graph the line 2x-3y=6
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" ‘Special cases: vertical and horizontal lines

Example: graph the line x=-3 Example: graph the line y=2

S A

Verifying that points are on the curve of an equation:

Example Verify that the points (0, 3), (-3, 0) and (3, 0) lie on the cnrcle whose equation is
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Geometry, 13.2 Equations of lines

When an equation of a line is in the form: y =mx+5 we call this 'slope, y-intercept form'
(" because we can read the slope (m) and y-intercept (b) directly from the equation.

Find the slope and y-intercept:
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How_ slope affect the graph of a line: P
' ) bo by
Posmve slope: Negative slope: Zero slope: Undefined slope:
L y=2x+5 y=-2x+5 y=2 x=3
4x+5 =—4x+5 - -
y= 2 Y | ééﬁmgmw%ﬁ) {veh
] - T TR
- - \\ " L e A
N EiuEy .
Nt : "
Comparing lines by their slopes:
. '_'Cc_ihc'_:'idihd.._lih'e'S' _ Parallel lines Perpendicular lines Intersecting lines
‘same slope, ‘same slope, hegative, reciprocal <-none of these
same y-intercept different y-intercept slopes
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- .Forms of line equations:

Slope-intercept form / y-form: y=mx+b  ex.y=2x-5

Point-slope form: __y_f__jxl_': m(x—x) ex.y—-2=2(x-4)

General form: ‘ax +bhy+c=0  ex.6x—4y-2=0

Examples:

Find the equatlon of the line that passes through these two points: (2, 4) and (6, 16)
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| Write a sIope-mtercept (y-form) equation for the line that is perpendicular to line 2y =x+16 and
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{ - points that make that line equation true.
The solution of a system of 'e'qU:éti'o.ns are all the points
that make both equations true at the same time.
3 possibilities:
Aline
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. Apoint

Gébfn.etl;y, 13.3: Systems of Equations

A system of equations has 2 lines. Each line contains

No solution
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2 methods to find the intersection point:
Substitution Elimination
X+2y=17 x+2y=7
4x —y=10 4x —y=10
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(2 +y=10
Sx+4y=17
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Geometry, 13.6: Circles

Equation of a circle:

(v )

—k(y—lc)2 =

where ¥ =radius

(h,k)=center of circle

Examples

~ Graph the C|rcle X +y 2ogo
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i and the center and radius, circumference and area of the circle (x- 2) +(y+7)
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Write the equation of a circle with radius of 5 and center at (-2, 1)
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' Wr:te an equation for a circle with center at (-1, 7) that passes through the origin.
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Is X ~—8x+y —10y 8 the equation of a circle?
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